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Assignment #6

Transportation & Assignment Models

DUE:  April 8

20 points
You may work on this assignment in teams of two, and turn in one paper for the team – both team members will be assigned the same grade (see II.b. on handout #1).

If you choose the “team of two” option on other assignments, you must work with at least three different people throughout the semester.

Problem A

Widget Factories produce the following amounts of widgets:




Weekly Production (cartons)

A.  Pittsburgh

150

B.  Seattle

210

C.  Memphis

320

These factories supply widgets to the four cities where stores have the following demand:




Weekly Demand (cartons)

1.  Detroit

130

2.  St. Louis

  70

3.  Chicago

180

4.  Richmond

240

Shipping costs per carton are as follows:
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Part 1.  Find the optimal solution.  (Label your STORM output A1)

Part 2.  Find the optimal solution if shipments are presently prohibited from Seattle to Chicago because of a truckers strike.  (Label your STORM output A2)

Part 3.  The strike is over.  But the production capacity at the Memphis factory dropped from 320 to 290 cartons per week.  Find the optimal solution.  (Label your STORM output A3)

Problem B
A job shop has four machinists to be assigned to four machines.  The hourly cost of having each machine operated by each machinist is:

	Machinist
	Machine W
	Machine X
	Machine Y
	Machine Z

	1
	$12
	11
	8
	14

	2
	10
	9
	10
	8

	3
	14
	8
	7
	11

	4
	6
	8
	10
	9


Part 1.  Find the optimal solution.  (Label your STORM output B1)

Part 2.  Machinist 3 is on an extended sick leave.  A new machinist is brought in to temporarily replace him, but he cannot operate Machine X.  Find the optimal solution.  (Label your STORM output B2)

For both problems A & B:  Write a memo to management (two different memos).

